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a Out o1' 15 iter-ns -4 are not in good condition z[ arc sclectccl at ratrdot-t't. Apply thc

probability that (i) All are not good (ii)'fwo are not good.

b Three students A. B, C are in running race. A and B have the sarne Probability of

winning and each is twice as likely to win as C. F-ind the Probability that B or C

wins.

OR

In a bolt factory machines A, B, C manufaclwe 20o/o,30o/o and 50o/o of the total of

their otrtput and 6Yo,3Yo and ZYo are defective. A bolt is drawn at random and found to

be defective. Find the probabilities that it is n'ranufactured from (i) Machine A

(ii)Machine B (iii) Machine C

Find a real root of the equation xe'' -cosx = 0 using Newton - Raphson method.

OR

From the following table values of x and y:tan x. Find the values of y when x:0.12

and x:0.28.

x 0.10 0.15 0.20 0.2s 0.30

v 0. I 003 0.i511 0.2027 0.25s3 0.3093

UNIT-III

a Solve !,=x+.i,, given thaty(t)=0. Find l(1.1) anA y0.2) by Taylor's

method.

b Using Euler's method y' : y'+x,y(o)= 1 . Find y(0.1) and y(0.2)

6M

OR

Solre .i'"-.{(y')' , J 
r :0 Lrsinlq R-l( mclhod of 4th o:'der Ibr x .. 0.2 given 1'(0): I l'(t lzM

and l,'(0) : 0 ta)i.ing yt:g.2.
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b Find rhc /,-trans{bnr ol'(l) e "" (ii)ne "" (iii)n2c ""

olr
10 Solve !,*zt2!u.,,*)),,:il. Using theZ-transform giventhat 1;,, -Jlr :0.

**x END {<*r,<

lrrncl thc ).u1-llucc 1:'irnsliuur o1' / (l )-= /'c " siu i/

l:incl tlrc l,aplacc tnrnslblur ol- I (t) .- ,, " sin ?/ cos/

olt
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Irind the Inversc Laplace translbrm of' 7i;
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